Bla kurs KOORDINATSYSTEM
5 1Y

\1 a) (04) D 5
b)  (%0) 6

o | (&) [E EWCW)

d) () ¢ s 2AW f. e

M‘qéwL FI x- axeln “’NH

P A (30) !
B (-34) a4l

)
C 5 REN
D (‘2’-—&) Mo wA T

T

. J Q) (2'5> -+ R
b 1 {5 ra] =3
® O [CA=511=+0 . o < R(s)
d) (54 P 1t30) p, |

/
o S
“:l ST S ik (AR P Y
BRGEANEEE RN
4 S A
T TS
4
e» St




Bla kurs KODRDINATSYS TEM
$ 125

4 Kvadiat ABCD
A (43)
8 (2,3)
c (3,4)
D (,;‘LJ,;Z)

Tﬁancj’d Ef6

E (=)
A
G (5-3)

Teaho rvu‘mj(' RIJKL

B A1) Om PW\U lu‘o,c.?er pa X-akseln — =0

J (Q,’ﬁ) Dw "ch\(c’k f/(clczer P; Wax‘e)n - X=b




